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1.

No books, notes or drawing comical pictures of your Chemistry Instruc-
tor. You may use a calculator to do routine arithmetic computations.-
You may not use your calculator to store notes or formulas. You may
not share a calculator with anyone.

You should show your work and explain how you arrived at your an-
swers. A correct answer with no work shown (except on problems
which are completely trivial) will receive no credit. If you are not sure
whether you have written enough, please ask.

. You may not make more than one attempt at a problem. If you make

several attempts, you must indicate which one you want counted, or
you will be penalized.

You may leave as soon as you are finished, but once you leave the exam,
you may not make any changes to your exam.

This test has 6 problems.



1. (20 Points)

(a) Which of the following intervals corresponds to the set of all z
satisfying |z — 3| < 57

(@) (=8,-2) () [-8-2] (o) (=82 (d)[-82]

' f) [-2, , h) (2,
Ol @ey ORs

~ALX < &
(b) What is the domain of f(z) = In/—z?

@ (001 (5) (~o0,1] (@) (~20,0)

(e) (0,00)  (f) [0,00]  (g) (1,00)  (h) [, 00]

(c) For the function y = f(z) graphed below, what is f~*(1)?

Floy= )
il(ﬂ =0

(8) -2 (b) -1 (c) —1/2 ©12 ©1 (g2

(h) None of the above, f(z) does not have an inverse.

(d) Suppose sinz = @ and cosz < 0. What is tanz?

-1 @  (@-
V& [



2. (20 points)

a) If y = logs z, which of the following is equal to Inz?
3 y
In3 X=73
(6 ¥ () logy(ny) (@) j23 ,
Y Gax = On(z)

(b) The function y = f(z) is graphed below. For which values of ¢
does lim f(z) not exist?
T—rC

(a) -1 only ((b)0onlyY (c) 1only (d)-1and 0 only
()2 (f)0and 1only (g)-1,0,1 only
(h) None of the above: the limits exists for all ¢
(c) If f(z) satisfies the inequality 22 — 1 < f(z) < z?, then what is
the lim f(x)? '
z—1
(@) -2 (b)) -1 ()0 ((d)1} ()2
(f) The limit does not exist.

(g ) The limit cannot be determined from the information given.

2 . . .
@ Whatistim & =52 = Qi E=FUx+1)
T2 z—2 A 4

@) -3 () -2 (-1 @0 ()1 (£)2

(h) None of the above, the limit does not exist.



3. (20 points)

(a) Find the inverse of the function f(z) = T—‘-g4$ —1

z +
L= By - AXN ¥ 3K = Uy - | BRAN = iy - axy
AY+ 3
Ny = 22X Flipy = 22x
-3 X Mo X

by m Y22 e Byl
ImVETT G 2 e (Bax

N(%%&fo ) . h___..(é._. = ——%’
x~>~\ T=tsax) (K42) H )

ST s Oty
= h x—e\ (M

d) li =
(d) Jim e T 654z + 15

824 — 12z + 1023 8 _ 2
L‘



4. (20 points)

T+ 2xCosT
(a) lim ————
z—0 Sinzx coszx

— KIC\x cosx) _ L2 =12

X~ 0O Sy CO5X

) m T8 (O Mﬂq
z—3~ -3
o K= T >l

— —
—

(c) Find the value of a and b so that f(z) is continuous if
—T forz < -1
flz)=q az+b for —1<z<1

22 4+2 forz>1

-Q/""“ H“3~ 3 waw\ Fix)y =—aab ~aab =

x>t il Gab =73
O Fo= Grdb Lo FOO=3 2 b=y
A = o=y H=2)

(d) Find a value of § > 0, so that |(2z — 2) — 4| < 0.01, if |z — 3| < 4.
] ax- &)< 0.0\
| a(x-2) | 2o

i ' 5= .005 oR
| x-3)< .00S B



5. (10 points) On the axes below, sketch (if possible) the graph of a func-
tion that meets all of the following criteria:

lim f(z)=3 hf_n2+ flz)=2

T—>—2"

] - — 1 =
) =meo I Jl) = e
lim f(z)=1 lim f(z)=-1
z—1- z—1+

Imf@)=2  /()=3

x -3 2 -1 ;/ 2 3 .
-t

-2

-3

6. (10 points) Indicate whether the following statements are true or false
by circling the appropriate letter. A statement which is sometimes true
and sometimes false should be marked false.

: —_z+1 ;
a) The function f(z) = po R R continuous at T @
=1
b) If f(z) = sinz and g(z) = 2% then T @
(f 09)() = sin’
o) If il_)l’ri f(z) =5, then x1~1g1+ flz)=5 @ F
. . . 3 _
q) It lim f(z) = 2, then lim(f(z))* =8 @ F
e) Iflim f) _ 1, then lim f(z) =0 @ F
z—=0 z—0



